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Illustration

1. If 
find 
in terms of 

A. 

B. 

C. 

D. 

Answer: B

(log)3y = xand(log)2z = x, 72x yandz.

yz3

y2z3

y3z2

y3z3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ANHrEUPxkG0w


Watch Video Solution

2. , then bc =

A. a

B. 

C. 

D. 

Answer: D

Watch Video Solution

If = =
log10a

2

log10b

3

log10c

5

a2

a3

a4

3. If  is equal to

A. 2xy + 1

B. 2xy-1

C. 2x+1

log45 = x  and log56 = y,  then  log23

https://dl.doubtnut.com/l/_ANHrEUPxkG0w
https://dl.doubtnut.com/l/_T8c2lizE7dmN
https://dl.doubtnut.com/l/_c9eA6fHVpH7x


D. 2y + 1

Answer: B

Watch Video Solution

4. If , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = log0.10.001, y = log981 √x − 2√y

3 − 2√2

√3 − 2

√2 − 1

√2 − 2

5. If , then x is equal tolog3a × logax = 4

https://dl.doubtnut.com/l/_c9eA6fHVpH7x
https://dl.doubtnut.com/l/_H85wyfoFnaEk
https://dl.doubtnut.com/l/_y7xtvRF3Np0s


A. 64

B. 81

C. 

D. 12

Answer: B

Watch Video Solution

a2

6. If a and b are positive real numbers other than unity, then the least

value of , is

A. 0

B. 1

C. 2

D. none of these

Answer: C

|logba + logab|

https://dl.doubtnut.com/l/_y7xtvRF3Np0s
https://dl.doubtnut.com/l/_sE0gUBb1rbPH


Watch Video Solution

7. If a, b, c are positive real numbers, then 

A. 0

B. 1

C. 2

D. none of these

Answer: C

Watch Video Solution

+ + =
1

logababc

1

logbcabc

1

logcaabc

8. If  equals

A. 64

x − 27  and y = log34, thenxy

https://dl.doubtnut.com/l/_sE0gUBb1rbPH
https://dl.doubtnut.com/l/_MTbjmpy0JyDu
https://dl.doubtnut.com/l/_1KWCh246Q7oy


B. 16

C. 

D. 

Answer: A

Watch Video Solution

3

7

1

16

9. The value of , is

A. 8

B. 3

C. 4

D. 9

Answer: D

Watch Video Solution

16log43

https://dl.doubtnut.com/l/_1KWCh246Q7oy
https://dl.doubtnut.com/l/_nxikLR1255jU


10. If , then x =

A. 3

B. 9

C. 27

D. none of these

Answer: C

Watch Video Solution

log3x + log9x
2 + log27x

3 = 9

11. The value of , is

A. 

B. 16

C. 

D. 

log8128

7
3

3

7

1

16

https://dl.doubtnut.com/l/_4dvaTX2yOXIJ
https://dl.doubtnut.com/l/_WrwA9hE4ctFq


Answer: A

Watch Video Solution

12. The value of  is

A. 2

B. -1

C. 1

D. 0

Answer: D

Watch Video Solution

2log35

− 5log32

13. If  find the position of the first significant figure in log10 7 = 0.8451,

7− 20.

https://dl.doubtnut.com/l/_WrwA9hE4ctFq
https://dl.doubtnut.com/l/_ThiYfbPkRYz5
https://dl.doubtnut.com/l/_QPpxFCT4zQ9N


Section I Solved Mcqs

A. 15

B. 20

C. 17

D. 18

Answer: C

Watch Video Solution

1. If , then the minimum value of 

 is

A. 1

B. 2

C. 0

0 ≤ a ≤ x

logax + logxx

https://dl.doubtnut.com/l/_QPpxFCT4zQ9N
https://dl.doubtnut.com/l/_ozMeT7wA2IO9


D. none of these

Answer: B

Watch Video Solution

2. If a, b, c are positive real numbers, then 

A. 0

B. 1

C. 

D. none of these

Answer: B

Watch Video Solution

alogb− logc × blogc− loga × cloga− logb

−1

https://dl.doubtnut.com/l/_ozMeT7wA2IO9
https://dl.doubtnut.com/l/_HTY5opXtpoH2


3. The value of  is

A. 0

B. 

C. 1

D. none of these

Answer: C

Watch Video Solution

(bc)
log( )

⋅ (ca)log ( ) ⋅ (ab)
log( )b

c
c

a

a

b

−1

4. If

A. 2yz

B. 2xy

C. 2zx

x = (log)2aa, y = (log)3a2a, z = (log)4a3a, provethat1 + xyz = 2yz.

https://dl.doubtnut.com/l/_RO0S5qEeyYrq
https://dl.doubtnut.com/l/_8C4Kn7Ku7zGB


D. none of these

Answer: A

Watch Video Solution

5. Evaluate : 

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

+ +
1

loga bc + 1

1

logb ca + 1

1

logc ab + 1

−1

https://dl.doubtnut.com/l/_8C4Kn7Ku7zGB
https://dl.doubtnut.com/l/_iUTTKa8qqznh


6. If


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = a andz = a , thenprovethatx = a
1

1 − (log )ax
1

1 − (log )ay
1

1 − (log )az

1

a1 − logaz

1

1 − logaz

1

1 + logza

1

1 − logza

7. If  then x=

A. 

B. 

C. 

D. 

a = log2, b = log3, c = log7  and 6x = 7x+ 4

4b

c + a − b

4c

a + b − c

4b

c − a − b

4a

a + b − c

https://dl.doubtnut.com/l/_kFnxQO9q3LWM
https://dl.doubtnut.com/l/_Ez62Axj3jGDj


Answer: B

Watch Video Solution

8. Given 
 prove

that
: 

A. 1

B. 2

C. 

D. 

Answer: B

Watch Video Solution

a2 + b2 = c2& a.0; b > 0; c > 0,  c − b ≠ 1,  c + b ≠ 1,

(log) c+b a + (log) c−b a = 2(log) c+b a
.

logc−b a

−1

−2

9. If 5x = (0. 5)y = 1000, then − =
1

x

1

y

https://dl.doubtnut.com/l/_Ez62Axj3jGDj
https://dl.doubtnut.com/l/_LnaB0iOYIWL2
https://dl.doubtnut.com/l/_oHjp7jbQh6mv


A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

3

1

4

10. Solve for 
.

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

x : 4x3x− 1 / 2 = 3x+ 1 / 2 − 22x− 1

1

2

3

2

5

2

https://dl.doubtnut.com/l/_oHjp7jbQh6mv
https://dl.doubtnut.com/l/_mmA0Dgbsdr0J


Watch Video Solution

11. If  then xyz=

A. 2

B. 1

C. 0

D. 

Answer: B

Watch Video Solution

= =
logx

2a + 3b − 5c

logy

2b + 3c − 5a

log z

2c = 3a − 5b'

−1

12. 

A. 2

B. 10

C. 1

If logx = = , thtenx4y3z − 2 =
logy

2

log z

5

https://dl.doubtnut.com/l/_mmA0Dgbsdr0J
https://dl.doubtnut.com/l/_DquY9laAStoY
https://dl.doubtnut.com/l/_ex8QNPGPQ1Bn


D. 0

Answer: C

Watch Video Solution

13. If  then 

A. a = 24

B. b = 81

C. c= 64

D. c = 256

Answer: D

Watch Video Solution

loga = log b = log c
1

2

1

5
a4b3c− 2 =

14. If  and , abc is equal toa = log24 12, b = log48 36 c = log36 24

https://dl.doubtnut.com/l/_ex8QNPGPQ1Bn
https://dl.doubtnut.com/l/_LholGYbi8Zjm
https://dl.doubtnut.com/l/_xHiT0qsSlHev


A. 2bc-1

B. 2bc+1

C. bc-1

D. bc+1

Answer: A

Watch Video Solution

15. If a,b,c are any three consecutive integers , prove that

A. 

B. 

C. 

D. 

Answer: D

log(1 + ac) = 2 log b

logb

log( )
b

2

log(2b)

2logb

https://dl.doubtnut.com/l/_xHiT0qsSlHev
https://dl.doubtnut.com/l/_pBjykDQz0nAk


Watch Video Solution

16. If 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

= 4 + k + logab, thenk =
logax

logabx

−2

−3

17. If  where x, y, z

are positive real numbers 

different unity , them prove that abc = ab + bc + ca

A. 

a = 1 + logx yz, b = 1 + logy zx and c = 1 + logxy

+ + = 1
1

x + 1

1

y + 1

1

z + 1

https://dl.doubtnut.com/l/_pBjykDQz0nAk
https://dl.doubtnut.com/l/_IQS6zsnyZgOk
https://dl.doubtnut.com/l/_KdboZcHQdNDI


B. 

C. xyz =x + y + z + 1

D. xyz = 1

Answer: A

Watch Video Solution

+ + = 1
1

x − 1

1

y − 1

1

z − 1

18. 

A. 1

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

+ + + … + =
1

log2n

1

log3n

1

log4n

1

log43n

log43 !n

logn43!

https://dl.doubtnut.com/l/_KdboZcHQdNDI
https://dl.doubtnut.com/l/_A6QtIHnsf2Nt


19. If n is a natural number such that  where 

 are distinct primes then minimum value of  is:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

n = P
a1

1 P
a2

2 P
a3

3 ...P ak
k

p1, p2, ...pk logn

klog2

klog3

klog4

20. Prove that number 
is an irrational number.

A. an integer

B. a rational number

C. an irrational number

(log)27

https://dl.doubtnut.com/l/_X3pyDmIujm5T
https://dl.doubtnut.com/l/_pJgNEMU17ag6


D. a prime number

Answer: C

Watch Video Solution

21. If in a right angled triangle, 
are the
lengths of sides and 
 is

the
 length of hypotenuse and 
 , then show that 

A. 1

B. 2

C. 

D. none of these

Answer: B

Watch Video Solution

a and b c

c − b ≠ 1,  c + b ≠ 1

(log) c+b a + (log) c−b = 2(log) c+b a
.

logc−b a.

1

2

https://dl.doubtnut.com/l/_pJgNEMU17ag6
https://dl.doubtnut.com/l/_xLO5Uw2p9E1G
https://dl.doubtnut.com/l/_fi9YlCSwEM4V


22. If

then  equals

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

+ + + + …. + = (n )
1

log2a

1

log4a

1

log8a

1

log16a

1

log2na

n + 1

λ

λ

log2a

loga4

log2a
2

23. If , then x is equal to

A. 

B. 

C. 2xy +1

log3a × logax = 4

1

2x + 1

1

2y + 1

https://dl.doubtnut.com/l/_fi9YlCSwEM4V
https://dl.doubtnut.com/l/_OS6n9cd77IgJ


D. 

Answer: D

Watch Video Solution

1

2xy − 1

24. The value of  is

A. x

B. y

C. z

D. a prime number

Answer: C

Watch Video Solution

xlogxa× logay× logyz

https://dl.doubtnut.com/l/_OS6n9cd77IgJ
https://dl.doubtnut.com/l/_xvx3QY0Mi1E6


25. If  are in H.P., where a, b, c, x belong to ,

then a, b, c are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: B

Watch Video Solution

logaxx, logbxx, logcxx (1, ∞)

26. If the left hand side of the equation 

 is a perfect square , the

value of 

,  is

A. 3

a(b − c)x2 + b(c − a)xy + c(a − b)y2 = 0

{ }

2
log(a + c) + log(a − 2b + c)

2

log(a − c)
(a, b, c ∈ R+ , a > c)

https://dl.doubtnut.com/l/_C8HuwbepGHTQ
https://dl.doubtnut.com/l/_atXdvRnkBGDh


B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

27. If , then =

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

= =
loga

b − c

log b

c − a

log c

a − b
ab+ c. bc+a. ca+ b

abbcca = 1

aabbcc = 1

a√a b√b c√c = 1

https://dl.doubtnut.com/l/_atXdvRnkBGDh
https://dl.doubtnut.com/l/_vvrHXFtW7lDW


28. Solve .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log2|4 − 5x| > 2

(8/5, ∞)

(4/5, 8/5)

( − ∞, 0) ∪ (8/5, ∞)

29. The sum of the series 

 is

A. 

B. 

C. 

log42 − log82 + log162 − log322 + …. ,

e2

loge2 + 1

loge3 − 2

https://dl.doubtnut.com/l/_wdkm8OqG1Lo3
https://dl.doubtnut.com/l/_fJFQfd9xj78d


D. 

Answer: D

Watch Video Solution

1 − loge2

30. If , then x lies in the interval

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log0.3(x − 1) < log0.09(x − 1)

(2, ∞)

−2, − 1

(1, 2)

31. The values of x satisfying  lie in the intervalxlog5 > 5

https://dl.doubtnut.com/l/_fJFQfd9xj78d
https://dl.doubtnut.com/l/_99ZqsydNgCnE
https://dl.doubtnut.com/l/_nVpG8239KcC7


A. 

B. 

C. 

D. (1, 2)

Answer: B

Watch Video Solution

(0, ∞)

(0, 1/5) ∪ (5, ∞)

(1, ∞)

32. The solution set of the equation 

 is

A. 

B. 

C. 

D. none of these

Answer: A

logx2 × log2x2 = log4x2,

{2− √2, 2√2}

{ , 2}
1

2

{ , 4}
1

4

https://dl.doubtnut.com/l/_nVpG8239KcC7
https://dl.doubtnut.com/l/_Rj3A3RBJccMX


Watch Video Solution

33. Solve .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log0.2. ≤ 1
x + 2

x

( − ∞, − 5/2] ∪ (0, ∞)

[5/2, ∞)

( − ∞, − 2) ∪ (0, ∞)

34. Solve for x: 

A. 

B. 

5logx + 5xlog 5 = 3(a > 0)

2loga5

2− loga5

https://dl.doubtnut.com/l/_Rj3A3RBJccMX
https://dl.doubtnut.com/l/_roCFphLtAupS
https://dl.doubtnut.com/l/_PdgkM1fc9InP


C. 

D. 

Answer: C

Watch Video Solution

2− log5a

2log5a

35. The number of solutions of  in the interval 

 is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

logsinx(2  tanx) > 0

(0, π/2)

https://dl.doubtnut.com/l/_PdgkM1fc9InP
https://dl.doubtnut.com/l/_FUUxSbygvSxi
https://dl.doubtnut.com/l/_AKEkDXoQ9LJR


36. The set of real values of x for which 

 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2log√2 ( x− 1 ) > x + 5,

( − ∞, − 1) ∪ (4, ∞)

(4, ∞)

( − 1, 4)

37. Find the number of solution to equation :

A. 2

B. 0

C. 3

log2(x + 5) = 6 − x

https://dl.doubtnut.com/l/_AKEkDXoQ9LJR
https://dl.doubtnut.com/l/_oUCGaGsQVfP4


D. none of these

Answer: D

Watch Video Solution

38. The set of values of x for which , is

A. 

B. 

C. R

D. 

Answer: D

Watch Video Solution

logex >
x − 2

x

(1, ∞)

(1, 2)

(2, ∞)

https://dl.doubtnut.com/l/_oUCGaGsQVfP4
https://dl.doubtnut.com/l/_W0tOQnjWm0cH


39. The number of solutions of the equation 

 is

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

3log3| − x| = log3x
2,

40. The number of values of x satisfying 

, is

A. 1

B. 2

1 + log5(x
2 + 1) ≥ log5(x

2 + 4x + 1)

https://dl.doubtnut.com/l/_YjGVUDGAoB3l
https://dl.doubtnut.com/l/_HQnuzc7Msr0N


C. 3

D. infinitely many

Answer: D

Watch Video Solution

41. The number of ordered pairs (x, y) satisfying

, is

A. 1

B. 2

C. more than 2 but finite

D. infinite

Answer: D

Watch Video Solution

4(log2x
2)

2
+ 1 = 2log2y  and log2x

2 ≥ log2y

https://dl.doubtnut.com/l/_HQnuzc7Msr0N
https://dl.doubtnut.com/l/_zDShhMa7qIOi
https://dl.doubtnut.com/l/_QACBir5zTehu


42. The value of  is equal to 

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

+ +
1

logbc abc

1

logca abc

1

logab abc

(a, b, c > 0)

1/2

43. Complete set of solution of  is :

A. 

B. 

C. 

log1 / 3(2x+ 2 − 4x) ≥ − 2

( − ∞, 2 − √13)

( − ∞, 2 + √13)

( − ∞, 2)

https://dl.doubtnut.com/l/_QACBir5zTehu
https://dl.doubtnut.com/l/_ryGzFFm3hRSu


D. none of these

Answer: C

Watch Video Solution

44. The value of 

 is

A. 

B. e

C. 

D. none of these

Answer: C

Watch Video Solution

e
logex+ log√ex+ log3√e

x+ … . + log10√e
x,

x10

x55

https://dl.doubtnut.com/l/_ryGzFFm3hRSu
https://dl.doubtnut.com/l/_CDLqJ0OTBvcN


45. IF  then value of the expression 

 equals

A. 

B. 0

C. 1

D. 198

Answer: C

Watch Video Solution

x = 198!

+ + ... +
1

log2 x

1

log3 x

1

log198 x

−1

46. If  denotes the greatest integer function, then thevalue of natural

number n satisfying the equation

, is

A. 255

B. 256

[. ]

[log2 1] + [log2 2] + [log2 3] + .... . + [log2 n] = 1538

https://dl.doubtnut.com/l/_WzOQFvjYjyV7
https://dl.doubtnut.com/l/_J4FfEASKrVNC


C. 254

D. 313

Answer: A

Watch Video Solution

47. The set of real values of  satisfying 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x log (x2 − 6x + 12) ≥ − 21
2

( − ∞, 2]

[2, 4]

[4, ∞)

https://dl.doubtnut.com/l/_J4FfEASKrVNC
https://dl.doubtnut.com/l/_v8yOMiMOUkN6


48. If  then  belongs to the interval

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log0.04(x − 1) ≥ log0.2(x − 1) x

(1, 2]

( − ∞, 2]

[2, ∞)

49. If 

A. a

B. 

C. 1

D. none of these

logax × log5a = logx5, a ≠ 1, a > 0,  then x =

5,
1

5

https://dl.doubtnut.com/l/_Dl7w1jn1nOmb
https://dl.doubtnut.com/l/_U0XWWpIuPSvD


Answer: B

Watch Video Solution

50. If , then number of values of 

 is __________.

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

log0.5 sinx = 1 − log0.5 cos x

x ∈ [ − 2π, 2π]

51. If  are positive numbers in G.P then 

 are in

x1, x2, x3, ...

logxn, logxn+ 1, logxn+ 2

https://dl.doubtnut.com/l/_U0XWWpIuPSvD
https://dl.doubtnut.com/l/_G0exUDYeZa1i
https://dl.doubtnut.com/l/_NjxAtUJEM7wg


A. A.P

B. G.P

C. H.P

D. none of these

Answer: A

Watch Video Solution

52. If  then sin x lies in the interval

A. 

B. 

C. 

D. none of these

Answer: B

W h Vid S l i

logcos x sin ≥ 2 and 0 ≤ x ≤ 3π

[ , 1]
√5 − 1

2

(0, ]
√5 − 1

2

[0, 1/2]

https://dl.doubtnut.com/l/_NjxAtUJEM7wg
https://dl.doubtnut.com/l/_r5n9ZozD0VOi


Watch Video Solution

53. The number of values of x  that satisfy the

equation  is

A. 0

B. n

C. 2n

D. none of these

Answer: A

Watch Video Solution

∈ [0, nπ], n ∈ Z

log | sin x | (1 + cos x) = 2

54. Number of integral values of x which satisfying the equation,

 is :

A. 1

9log3 ( log2 x ) = log2 x − (log2 x)2 + 1

https://dl.doubtnut.com/l/_r5n9ZozD0VOi
https://dl.doubtnut.com/l/_SdSxUJ7ziCse
https://dl.doubtnut.com/l/_d00GdbJQzmMC


B. 

C. 3

D. none of these

Answer: D

Watch Video Solution

1/2

55. If , then x has

A. all integral values

B. two integral values and one irrational values

C. all irrational values

D. two rational values and an irrational value

Answer: D

Watch Video Solution

x
{ ( log3x ) 2 + ( log3x ) − }

= √3
3
4

5
4

https://dl.doubtnut.com/l/_d00GdbJQzmMC
https://dl.doubtnut.com/l/_4PUjpdmEb0xw


56. If  then x =

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

logcosxtanx + logsinxcotx = 0,

nπ + , n ∈ Z
π

4

2nπ + , n ∈ Z
π

4

2nπ − , n ∈ Z
3π

4

57. The number of solutions of the equation 

 is

A. 0

B. 1

C. 2

xlog√x
2x

= 4

https://dl.doubtnut.com/l/_b4ZkEKbfZQlO
https://dl.doubtnut.com/l/_OVCFrfrIqENP


D. infinitely many

Answer: A

Watch Video Solution

58. If  then the number

of values of x, is

A. 0

B. 3

C. infinite

D. none of these

Answer: D

Watch Video Solution

log√3(sinx + 2√2cosx) ≥ 2, − 2π ≤ x ≤ 2π,

https://dl.doubtnut.com/l/_OVCFrfrIqENP
https://dl.doubtnut.com/l/_DDiSC0W35ATm


59. The least value of the expression 
 for 


is
10 (b) 2
(c) 
(d) 4

A. 1

B. 2

C. 4

D. none of these

Answer: C

Watch Video Solution

2(log)10x − (log)x(0, 01).

x > 1, −0. 01

60. The number of zeroes coming immediately after the decimal point in

the value of  is : Given )

A. 16

B. 17

(0.2)25 log10 2 = 0.30103

https://dl.doubtnut.com/l/_0HDF1OE7zaVZ
https://dl.doubtnut.com/l/_hArlLVHGgVRw


C. 18

D. none of these

Answer: B

Watch Video Solution

61. If , then the number values of x which are

integral multiples of  ,is

A. 6

B. 12

C. 3

D. none of these

Answer: A

Watch Video Solution

log sinx > 0, x ∈ [0, 4π]1

√2

π

4

https://dl.doubtnut.com/l/_hArlLVHGgVRw
https://dl.doubtnut.com/l/_svwLsZ9nfpFJ
https://dl.doubtnut.com/l/_1jF8E6HWyNo3


62. The value of  is equal to

A. 10

B. 1

C. 0

D. none of these

Answer: C

Watch Video Solution

89

∑
r= 1

log10(tan( ))
πr

180

63. If [x] denotes the greatest integer less than or equal to x, then

A. 6

B. 4

C. 5

[log106730.4] =

https://dl.doubtnut.com/l/_1jF8E6HWyNo3
https://dl.doubtnut.com/l/_jqgsYQNTYiya


D. none of these

Answer: D

Watch Video Solution

64. If , then the value of 

 is equal to

A. 0

B. 1

C. 2

D. none of these

Answer: B

Watch Video Solution

an > an− 1 > …. > a2 > a1 > 1

loga1
loga2

loga3
…. logan

https://dl.doubtnut.com/l/_jqgsYQNTYiya
https://dl.doubtnut.com/l/_NjjlAOWZmb6N


65. If  then 

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

n = 1999!
1999

∑
x= 1

logn x =

1999√1999

−1

66. Let 
 An integer 
 satisfying 

must be less than ..........

A. 1

B. 2

C. 0

a = (log)3(log)32. k 1 < 2−k+ 3 ( − a)

< 2,

https://dl.doubtnut.com/l/_2RmDoyU2nTPU
https://dl.doubtnut.com/l/_I0nO9f9rWuI7


D. 

Answer: A

Watch Video Solution

−1

67. If  then the minimum

value of  for all  is

A. 2500

B. 3000

C. 1200

D. 3500

Answer: A

Watch Video Solution

log10(x
3 + y3) − log10(x

2 + y2 − xy) ≤ 2

xy x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_I0nO9f9rWuI7
https://dl.doubtnut.com/l/_R4CrWQnPWUpW


68. The value of 

 is ________.

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

6 + log3 / 2

⎛
⎜
⎜
⎝




⎷

4 −


⎷

4 − √4 − ...
⎞
⎟
⎟
⎠

1

3√2

1

3√2

1

3√2

1

3√2

69. If  then x can not be equal to

A. 

B. 

C. 

3x = 4x− 1

2log32

2log32 − 1

2

2 − log23

1

1 − log43

https://dl.doubtnut.com/l/_X3n0tgqNf16e
https://dl.doubtnut.com/l/_b71ow7NTg5QM


D. 

Answer: D

Watch Video Solution

2log23

2log23 − 1

70. For the system of equation 

 


 


 


Which of the following is/are true?

A. there are infinite number of solutions

B. there is unique solution with x,y, z Q

C. there are exactly two solutions with x, y, z Q

D. there is no solution

Answer: B

h id l i

log10(x
3 − x2) = log5y

2

log10(y
3 − y2) = log5z

2

log10(z
3 − z2) = log5x

2

∈

∈

https://dl.doubtnut.com/l/_b71ow7NTg5QM
https://dl.doubtnut.com/l/_kDxyNXsNA21R


Section Ii Assertion Reason Type

Watch Video Solution

1. Statement -1:  


Statement-2:  is a decreasing function when 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

0 < x < y ⇒ logax > logay, where0 < a < 1

logax 0 < a < 1.

https://dl.doubtnut.com/l/_kDxyNXsNA21R
https://dl.doubtnut.com/l/_ZQzPTJwNw5Sl
https://dl.doubtnut.com/l/_5DTLJ2htByLw


2. Statement-1:  where  


Statement-2:  is an increasing function.

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

0 < x < y ⇒ logax > logay, a > 1

Whena > 1, logax

3. Statement-1:  

Statement-2: 

log10x < logπx < logex < log2x

x < y ⇒ logax > logay  when 0 < a < 1

https://dl.doubtnut.com/l/_5DTLJ2htByLw
https://dl.doubtnut.com/l/_soGXqsveZr2v


A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

4. Statement-1:  

Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

3log27 − 7log23 = 0

xlogay = ylogax,  where x > 0, y > 0  and a > 0, a ≠ 1

https://dl.doubtnut.com/l/_soGXqsveZr2v
https://dl.doubtnut.com/l/_L8mlsHNkrrDd


B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

5. Statement-1: If

 


Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

a = y2, b = z2  and c = x2,  then logax
3 × logby

3 × logcz
3 =

27
8

logba =
1

logab

https://dl.doubtnut.com/l/_L8mlsHNkrrDd
https://dl.doubtnut.com/l/_noVFUNaSJH7T


C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

6. Statement-1: The solution set of the equation

 Statement-2 : 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

logx2 × log2x2 = log4x2is{2− √2, 2√2}.

logba =  and logaxy = logax + logay
1

logab

https://dl.doubtnut.com/l/_noVFUNaSJH7T
https://dl.doubtnut.com/l/_tbhclX4o5K7i


Answer: A

Watch Video Solution

7. Statemen-1: If , then the least value of 

.

Watch Video Solution

x < 1

log2x
3 − logx(0.125)  is 6

8. Statement-1 : If  then x =-2 


Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

xlogx ( 3 −x ) 2

= 25,

alogax = x, ifa > 0, x > 0  and a ≠ 1

https://dl.doubtnut.com/l/_tbhclX4o5K7i
https://dl.doubtnut.com/l/_kaUJe6zuqAjr
https://dl.doubtnut.com/l/_K6D4Fa2nOuuT


Exercise

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

1. Find the value of 7 .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log( ) + 5 log( ) + 3 log( )
16

15

25

24

81

80

log2

log3

log5

https://dl.doubtnut.com/l/_K6D4Fa2nOuuT
https://dl.doubtnut.com/l/_wELvq68JodX7
https://dl.doubtnut.com/l/_zzkv666cQTLc


2. The value of , is

A. 5

B. 2

C. 

D. 

Answer: C

Watch Video Solution

log49√7 + log25√5 − log4√2

log17.5

5

2

3

2

3. The value of  is

A. 

B. 1

C. 0

D. none of these

5√log
5
7 − 7√log7 5

log2

https://dl.doubtnut.com/l/_zzkv666cQTLc
https://dl.doubtnut.com/l/_Lzpaex1T5mDH


Answer: C

Watch Video Solution

4. The value of  is

A. 

B. 1

C. 0

D. none of these

Answer: C

Watch Video Solution

2log37 − 7log32

log2

5. The value of , is

A. 3

3 + log343

2 + log( ) + log( )1
2

49
4

1
3

1
125

https://dl.doubtnut.com/l/_Lzpaex1T5mDH
https://dl.doubtnut.com/l/_6ZLLuJ5AeJUl
https://dl.doubtnut.com/l/_et83WmWLUJV4


B. 2

C. 1

D. 

Answer: A

Watch Video Solution

3

2

6. STATEMENT-1 : Number of solution of  is two and 

STATEMENT-2 : If  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log|x| = θx

log30 3 − a, log30 5 = bthen log30 8 = 3(1 − a − b)

3(1 − x − y)

x − y + 1

1 − x − y

2(x − y + 1)

https://dl.doubtnut.com/l/_et83WmWLUJV4
https://dl.doubtnut.com/l/_pamP61gYHO7P


7. if  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + 4b2 = 12ab, log(a + 2b)

(loga + logb − log2)
1

2

log + log + log2
a

2
b

2

(loga + logb + 4log2)
1

2

(loga − logb + 4log2)
1

2

8. If  then 

A. 

B. 

C. 

9a2 + 4b2 = 18ab, log(3a + 2b) =

log5 + log3 + loga + log5b

log5 + log3 + log3a + logb

log5 + loga + logb

https://dl.doubtnut.com/l/_pamP61gYHO7P
https://dl.doubtnut.com/l/_71WLyfIkT0uy
https://dl.doubtnut.com/l/_tdyQ8cggcbzf


D. none of these

Answer: D

Watch Video Solution

9. The value of 

is

A. 5

B. 4

C. 3

D. 2

Answer: C

Watch Video Solution

log5(1 + ) + log5(1 + ) + log5(1 + ) + …. + log5(1 + )
1

5

1

6

1

7

1

624

https://dl.doubtnut.com/l/_tdyQ8cggcbzf
https://dl.doubtnut.com/l/_kwgdKQqxxG9Y
https://dl.doubtnut.com/l/_gnkWSfBnqRHT


10. If  then  is equal

to

A. 25

B. 26

C. 27

D. 28

Answer: C

Watch Video Solution

log(x − y) − log 5 − logx − logy = 0
1

2

1

2
+

x

y

y

x

11. If , then k =

A. 

B. 

C. 3

2log103√3 = 3klog102

1
2

3
2

https://dl.doubtnut.com/l/_gnkWSfBnqRHT
https://dl.doubtnut.com/l/_FH7HyCsjyj2E


D. 2

Answer: B

Watch Video Solution

12. If  then the least positive integer 'n' such that 

 is

A. 1

B. 6

C. 5

D. 4

Answer: B

Watch Video Solution

log10 343 = 2.5353

7n > 105

https://dl.doubtnut.com/l/_FH7HyCsjyj2E
https://dl.doubtnut.com/l/_rpIeLy10mRtd


13. If 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log102 = 0.3010, then log564 =

602

233

233

602

202

633

633

202

14. The value 'x' satisfying the equation, 

A. 4

B. 9

C. 83

D. 10

4log9 3 + 9log2 4 = 10logx 83is _ _

https://dl.doubtnut.com/l/_mxCLYEG42CMO
https://dl.doubtnut.com/l/_lRVb9A4nZfK1


Answer: D

Watch Video Solution

15. Find the value of 

A. 890

B. 860

C. 857

D. none of these

Answer: C

Watch Video Solution

3 + 27 + 81
4

log2 9
1

log49 9
1

log4 3

16. The value of , is

A. 

log√2√2√2√2√2

15

16

https://dl.doubtnut.com/l/_lRVb9A4nZfK1
https://dl.doubtnut.com/l/_KxOq2j8P3agv
https://dl.doubtnut.com/l/_itxB0ykoehKS


B. 

C. 

D. 

Answer: C

Watch Video Solution

7
16

15

8

31

32

17. The value of , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a
logb ( logbx )

logba

logax

logbx

logxa

logxb

https://dl.doubtnut.com/l/_itxB0ykoehKS
https://dl.doubtnut.com/l/_aWDlu0fRn2JT


18. The value of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

loga(logba)

logb(logab)

logba

logab

−logab

−logba

19. If , then x equals to

A. 8

B. 4

C. 2

D. 16

log2x + log4x + log16x =
21

4

https://dl.doubtnut.com/l/_UAuUftlhl2g6
https://dl.doubtnut.com/l/_nPiy20c26MCw


Answer: A

Watch Video Solution

20. If , then x =

A. 4

B. 8

C. 12

D. 4, 8

Answer: D

Watch Video Solution

log10{98 + √x2 − 12x + 36} = 2

21. If , then 

A. 

ax = by = cz = dw loga(bcd) =

( + + )
1

x

1

y

1

z

1

w

https://dl.doubtnut.com/l/_nPiy20c26MCw
https://dl.doubtnut.com/l/_MPp7BmYdwKgS
https://dl.doubtnut.com/l/_qBnCT62lNUPB


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x( + + )
1

y

1

z

1

w

y + z + w

x

22. If  then the value of x, is

A. 32

B. 125

C. 625

D. 125

Answer: A

Watch Video Solution

log5(log5(log2x)) = 0

https://dl.doubtnut.com/l/_qBnCT62lNUPB
https://dl.doubtnut.com/l/_kY8QJiN5lUFV


23. The number of solutions of the equation ,

is

A. 3

B. 1

C. 2

D. 0

Answer: B

Watch Video Solution

log4(x − 1) = log2(x − 3)

24. If  


 


, then

A. 

B. 

log2a + log4b + log4c = 2

log9a + log3b + log9c = 2

log16a + log16b + log4c = 2

a = , b = , c =
2

3
27
8

32

3

a = , b = , c =
27
8

2

3

32

3

https://dl.doubtnut.com/l/_LHm61hkKOcMp
https://dl.doubtnut.com/l/_7GagxgSGIk1W


C. 

D. 

Answer: A

Watch Video Solution

a = , b = , c =
32

3
27
8

2

3

a = , b = , c =
2

3

32

3
27
8

25. If , then x equal to

A. y

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = 21 / logx8

y2

y3

https://dl.doubtnut.com/l/_7GagxgSGIk1W
https://dl.doubtnut.com/l/_COdMVd1zt5uH


26. If , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

logyx = logzy = logxz

x < y < z

x > y ≥ z

x < y ≤ z

x = y = z

27. If  then find the value of x

A. 

B. 

C. 

D. 

32x+ 1 ⋅ 4x− 1 = 36

log3648

log4836

log2412

log1224

https://dl.doubtnut.com/l/_ZDbvT4fTQKmO
https://dl.doubtnut.com/l/_vPwTXzv0XQzq


Answer: A

Watch Video Solution

28. If , then

A. 2

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

logx{log4(logx(5x2 + 4x3))} = 0

29. If , then x =

A. 

= − 2
1

logx10

2

loga10

a

2

https://dl.doubtnut.com/l/_vPwTXzv0XQzq
https://dl.doubtnut.com/l/_hjyPn8YzoDUi
https://dl.doubtnut.com/l/_G2fKnHeJmr7G


B. 

C. 

D. 

Answer: D

Watch Video Solution

a

100

a2

10

a2

100

30. If  in terms of a.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log12 27 = a,  then find log6 16

3 − a

3 + a

4( )
3 − a

3 + a

3( )
4 − a

4 + a

3( )
4 + a

4 − a

https://dl.doubtnut.com/l/_G2fKnHeJmr7G
https://dl.doubtnut.com/l/_HtmnnG9qi4Fg


31. If 

A. 1

B. 2

C. 

D. 

Answer: C

Watch Video Solution

(4.2)x = (0.42)y = 100,  then − =
1

x

1

y

1

2

−1

32. If , then x =

A. 

B. 2y

C. y

D. 

log8x = 25  and log2y = 50

y3 / 2

y

2

https://dl.doubtnut.com/l/_3L6TeYIL5UqN
https://dl.doubtnut.com/l/_94KuoCwchvrS


Answer: A

Watch Video Solution

33. If , then x =

A. 1

B. 3

C. 2

D. 4

Answer: B

Watch Video Solution

loge2. logx27 = log108. loge10

34. If , then x equals to

A. 

3 + log5x = 2log25y

y

125

https://dl.doubtnut.com/l/_94KuoCwchvrS
https://dl.doubtnut.com/l/_QZR7TIWvhnD4
https://dl.doubtnut.com/l/_QbkAMhgUaHdx


B. 

C. 

D. 

Answer: A

Watch Video Solution

y

25

y2

25

3 −
y2

25

35. If , then ca equals

A. 2b

B. 

C. 8b

D. 4b

Answer: B

Watch Video Solution

= =
loga

3

logb

4

logc

5

b2

https://dl.doubtnut.com/l/_QbkAMhgUaHdx
https://dl.doubtnut.com/l/_hy94mOEUqi6N


36.  then x belongs to

A. (0, 3)

B. (1, 3)

C. (1, 2)

D. (0, 2)

Answer: C

Watch Video Solution

2x × 32x = 100

37. If , then x equals to

A. 

B. 

C. 

D. 

x2log10x = 1000x

10, √10

10− 1, 10√10

10√10

√10

https://dl.doubtnut.com/l/_XxtDYlUhVqfr
https://dl.doubtnut.com/l/_EhFki4DqIUbR


Answer: B

Watch Video Solution

38. If  equals to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log105 = x,  then log51250

3 −
1

x

2 +
1

x

3 +
1

x

2 −
1

x

39. If , then x equals to

A. 

53x2log102 = 2
(x+ ) log10251

2

1, −
1

3

https://dl.doubtnut.com/l/_EhFki4DqIUbR
https://dl.doubtnut.com/l/_1NTnL15lNAIC
https://dl.doubtnut.com/l/_4IBu3prKvSvw


B. 1

C. 

D. 

Answer: A

Watch Video Solution

1, −
1

2

− , 1
1

3

40. If , then x equals to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

logx(4xlog5x + 5) = 2log5x

4, 5

−1, 5

4, − 1

5,
1

5

https://dl.doubtnut.com/l/_4IBu3prKvSvw
https://dl.doubtnut.com/l/_fSv5kYoZf0Bt


41. The equation  can be written as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

logex + loge(1 + x) = 0

x2 + x − 1 = 0

x2 + x + 1 = 0

x2 + x − e = 0

x2 + x + e = 0

42. If a =  and b = , which one of the following is correct?

A. 

B. 

C. 

D. none of these

log3(5) log17(25)

x < y

x = y

x > y

https://dl.doubtnut.com/l/_zZRMz0vyBUMa
https://dl.doubtnut.com/l/_97qP1kZzbGhs


Answer: C

Watch Video Solution

43. If  then which of the

following is correct?

A. 

B. 

C. xyz =1

D. none of these

Answer: B

Watch Video Solution

x = loga(bc), y = logb(ca)  and z = logc(ab),

x + y + z = 1

+ + = 1
1

1 + x

1

1 + y

1

1 + z

44. The value of , islog2log2log4256 + 2log√22

https://dl.doubtnut.com/l/_97qP1kZzbGhs
https://dl.doubtnut.com/l/_ydCmaoQ2XkvQ
https://dl.doubtnut.com/l/_BW6eHuCUYgbg


A. 2

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

45.  then value of 

A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

= =
loga

y − z

log b

z − x

log c

x − y
abc =

−1

https://dl.doubtnut.com/l/_BW6eHuCUYgbg
https://dl.doubtnut.com/l/_sMcNwGn9cVra


Watch Video Solution

46. If , then x is:

A. a rational number such that 

B. an irrational number such that 

C. a rational number such that 

D. a prime number of the form 

Answer: B

Watch Video Solution

log27 = x

0 < x < 2

2 < x < 3

2 < x < 3

7x + 2

47. If , then x =

A. 3

B. 

C. 

2 =
3

log3x
1

64

1

3

1

√3

https://dl.doubtnut.com/l/_sMcNwGn9cVra
https://dl.doubtnut.com/l/_gBu7IXf2stP5
https://dl.doubtnut.com/l/_eZHcJ24KjhnT


D. 

Answer: C

Watch Video Solution

−
1

√3

48. If  where x, y, z

are positive real numbers 

different unity , them prove that abc = ab + bc + ca

A. 0

B. 2abc

C. abc

D. 

Answer: C

Watch Video Solution

a = 1 + logx yz, b = 1 + logy zx and c = 1 + logxy

a2 + b2 + c2

https://dl.doubtnut.com/l/_eZHcJ24KjhnT
https://dl.doubtnut.com/l/_Q6bgyqtvwE1X
https://dl.doubtnut.com/l/_V8Hgomiinude


49. If  then 

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

= = ,
logx

a2 + ab + b2

logy

b2 + bc + c2

log z

c2 + ca + a2

xa− b ⋅ yb− c ⋅ zc−a =

−1

50. If  then 

A. 

B. 

C. 

D. 

log(2a − 3b) = loga − log b, a =

3b2

2b − 1

3b

2b − 1

b2

2b + 1

3b2

2b + 1

https://dl.doubtnut.com/l/_V8Hgomiinude
https://dl.doubtnut.com/l/_K0QIkc7cm0TW


Answer: A

Watch Video Solution

51. If 

A. 0

B. 2

C. 1

D. none of these

Answer: C

Watch Video Solution

= = ,  then 3x+y5y+z7z +x =
log3

x − y

log5

y − z

log7

z − x

52. 

A. 3

= =  and a− 3b− 4c = 1  then λ =
log2a

3

log2b

4

log2c

5λ

https://dl.doubtnut.com/l/_K0QIkc7cm0TW
https://dl.doubtnut.com/l/_dqECrrbHnSQY
https://dl.doubtnut.com/l/_kFYesfLSmffH


B. 4

C. 5

D. 

Answer: C

Watch Video Solution

−5

53. if  then find the value of 

A. 0

B. 1

C. abc

D. none of these

Answer: B

Watch Video Solution

= =
loga

b − c

log b

c − a

log c

a − b
aabbcc

https://dl.doubtnut.com/l/_kFYesfLSmffH
https://dl.doubtnut.com/l/_R5zjIJCYjyWV


54. The value of  is

A. 0.16

B. 1

C. 0.4

D. 4

Answer: D

Watch Video Solution

(0.16)log 2.5{ + + ...}
1

3

1

32

55. if  then 

A. 

B. 

C. 

D. 

a2 + 4b2 = 12ab, log(a + 2b)

(loga + logb − log2)
1

2

log + log + log2
a

2
b

2

(loga + logb + 4log2)
1

2

(loga − logb + 4log2)
1

2

https://dl.doubtnut.com/l/_WeJqRfs0Iz0D
https://dl.doubtnut.com/l/_5903Oa0qyeTr


Answer: C

Watch Video Solution

56. Find the value of 7 .

A. log2

B. log3

C. 1

D. 0

Answer: A

Watch Video Solution

log( ) + 5 log( ) + 3 log( )
16

15

25

24

81

80

57. If  then :

A. x+y = 0

logx + logy + log 2 = log(x + y)
1

2

1

2

https://dl.doubtnut.com/l/_5903Oa0qyeTr
https://dl.doubtnut.com/l/_00QWBqPhvVz7
https://dl.doubtnut.com/l/_nWpyH3M4D4Pi


B. x-y =0

C. xy =1

D. 

Answer: B

Watch Video Solution

x2 + xy + y2 = 0

58. The number of real solutions of the equation

, is

A. 0

B. 1

C. 2

D. 4

Answer: B

Watch Video Solution

log( − x) = 2log(x + 1)

https://dl.doubtnut.com/l/_nWpyH3M4D4Pi
https://dl.doubtnut.com/l/_nk8bhRnh6pcs


59. The solution of the equation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

logπ(log2(log7x)) = 0

72

π2

22

60. If , then x =

A. 4

B. 64

C. 32

log42 + log44 + log416 + log4x = 6

https://dl.doubtnut.com/l/_nk8bhRnh6pcs
https://dl.doubtnut.com/l/_wuTiEIH5mHhh
https://dl.doubtnut.com/l/_KUkBfrzsXyqq


D. 8

Answer: C

Watch Video Solution

61. The number of real values of the parameter k for which

 with real coefficients will have exactly

one solution is

A. 2

B. 1

C. 4

D. none of these

Answer: B

Watch Video Solution

(log16 x)2 = log16 x + log16 k = 0

https://dl.doubtnut.com/l/_KUkBfrzsXyqq
https://dl.doubtnut.com/l/_mOrCf1kYXWXi
https://dl.doubtnut.com/l/_N59QvLrZCNH2


62. If 
then find the value of 

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

ax = b, by = c, cz = a, xyz.

63. The value of , is

A. 0

B. 1

C. log abc

D. 10

logba × logcb × logac

https://dl.doubtnut.com/l/_N59QvLrZCNH2
https://dl.doubtnut.com/l/_doVjKefbNXTT


Answer: B

Watch Video Solution

64. If  then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

logaab = x, logbab,

x − 1

x

x

x − 1

x

x + 1

x + 1

x

65. If , then the value of  is

A. 2

x = − 2 log4( ) − 2log4(4x4),
x2

4

https://dl.doubtnut.com/l/_doVjKefbNXTT
https://dl.doubtnut.com/l/_chTJlcSOQCu0
https://dl.doubtnut.com/l/_PbfBALa0oQiS


B. 

C. 

D. 0

Answer: C

Watch Video Solution

−4

−6

66. The value of , is

A. 

B. 

C. 2

D. none of these

Answer: B

Watch Video Solution

√4 × log0.52

−2

√−4

https://dl.doubtnut.com/l/_PbfBALa0oQiS
https://dl.doubtnut.com/l/_p4IdJgE78dQ1


Chapter Test

1. If , then x equals to

A. 2

B. 3

C. 5

D. 6

Answer: A

Watch Video Solution

x ( log2x− 3 ) =
3
2

1

8

2. If , then x lies in the interval

A. 

B. 

C. 

log4(3x2 + 11x) > 1

( − 4, 1/3)

( − 4, 2)

[ − 4, 1/3]

https://dl.doubtnut.com/l/_M5J1I5ZV8Ubh
https://dl.doubtnut.com/l/_1N1yKM1axLr9


D. 

Answer: D

Watch Video Solution

( − ∞, − 4) ∪ (1/3, ∞)

3. If , then x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log6(x + 3) − log6x = 2

1

35

3

35

2

35

−
3

35

4. If , then x =2x.92x+ 3 = 7x+ 5

https://dl.doubtnut.com/l/_1N1yKM1axLr9
https://dl.doubtnut.com/l/_XZ9nxqYTSoJ6
https://dl.doubtnut.com/l/_U3npz0e1fU7x


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

5log7 + 6log3

log162 − log7

5log7 − 6log3

log162 + log7

5log7 − 6log3

log162 − log7

5. The solution of the equation 
is...

A. 3

B. 4

C. 2

D. none of these

Answer: B

Watch Video Solution

(log)7(log)5(√x + 5 + √x = 0

https://dl.doubtnut.com/l/_U3npz0e1fU7x
https://dl.doubtnut.com/l/_u3Msmq1JO3HP


Watch Video Solution

6. If , then x =

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

log6{log4(√x + 4 + √x)} = 0

5

4

7
4

9

4

7. If , then x =

A. 1

B. 2

C. 4

xlogx (x
2 − 4x+ 5 ) = (x − 1)

https://dl.doubtnut.com/l/_u3Msmq1JO3HP
https://dl.doubtnut.com/l/_5qhHyvGm5NuT
https://dl.doubtnut.com/l/_ZATDaK6G4gYv


D. 5

Answer: B

Watch Video Solution

8. If  then x =

A. 

B. 1

C. 3,2

D. 4

Answer: C

Watch Video Solution

log3{log6( )} = 0
x2 + x

x − 1

−1

9. If , then x equals tolog8{log2log3(x
2 − 4x + 85)} =

1

3

https://dl.doubtnut.com/l/_ZATDaK6G4gYv
https://dl.doubtnut.com/l/_B2uvliMXMaix
https://dl.doubtnut.com/l/_O5yzMLWdRRaQ


A. 5

B. 4

C. 3

D. 2

Answer: D

Watch Video Solution

10. If , then

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x = log23  and y = log1 / 25

x > y

x < y

x = y

https://dl.doubtnut.com/l/_O5yzMLWdRRaQ
https://dl.doubtnut.com/l/_4S1cRV61XXj7


Watch Video Solution

11. If , then x equals to

A. 1

B. 2

C. 3

D. none of these

Answer: D

Watch Video Solution

logx+ 2(x
3 − 3x2 − 6x + 8) = 3

12. If , then find the value of .

A. 

B. 

C. 

(2.3)x = (0.23)y = 1000 −
1

x

1

y

1

5

1

4

1

3

https://dl.doubtnut.com/l/_4S1cRV61XXj7
https://dl.doubtnut.com/l/_29PXjxE4mzKU
https://dl.doubtnut.com/l/_E7eWpvyAJBrZ


D. 

Answer: C

Watch Video Solution

1

2

13. If , then x equals to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10x− 1 + 10−x− 1 =
1

3

±log103

2log310

log33

log210

14. 
is
 
b. 
c. 
d.(log)2(log)2(log)3(log)3273 0 1 2  3

https://dl.doubtnut.com/l/_E7eWpvyAJBrZ
https://dl.doubtnut.com/l/_n8vmRcDsWups
https://dl.doubtnut.com/l/_C02hEFEMxB62


A. 1

B. 0

C. 3

D. 2

Answer: B

Watch Video Solution

15. If  then x =

A. 10

B. 16

C. 4

D. 6

Answer: D

Watch Video Solution

2log8a = x, log22a = y  and y − x = 4,

https://dl.doubtnut.com/l/_C02hEFEMxB62
https://dl.doubtnut.com/l/_77ovsrVk1HuP


Watch Video Solution

16. If  equals

A. 

B. 

C. 

D. 3y

Answer: B

Watch Video Solution

log10x = y,  then log103x2

y
1

3

y
2

3

y
3

2

17. If , then y equals

A. 9

B. 18

C. 27

log3x × logx2x × log2xy = logxx
2

https://dl.doubtnut.com/l/_77ovsrVk1HuP
https://dl.doubtnut.com/l/_3VL5XDmAmBrQ
https://dl.doubtnut.com/l/_C9q8mMXdKUCp


D. 81

Answer: A

Watch Video Solution

18. The number of solutions of  is

A. 2

B. 1

C. 6

D. 7

Answer: B

Watch Video Solution

log2(x − 1) = 2log2(x − 3)

19. If , then the greatest integral value of is+ > x
1

log3π

1

log4π

https://dl.doubtnut.com/l/_C9q8mMXdKUCp
https://dl.doubtnut.com/l/_HU2EhbxaDALj
https://dl.doubtnut.com/l/_Sbdcq3G0RAU8


A. 2

B. 3

C. 

D. none of these

Answer: A

Watch Video Solution

π

20. Let  and  be a positive integer greater than . If 

 , then equals to

A. 

B. 

C. 

D. 

x ∈ (1, ∞) n 1

fn(x) =
n

+ + ... +1
log2 x

1
log3 x

1
logn x

(n !)fn ( x )

nx

xn

nn

nnx

https://dl.doubtnut.com/l/_Sbdcq3G0RAU8
https://dl.doubtnut.com/l/_9NafVXG5FtTx


Answer: B

Watch Video Solution

21. If , then x =

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log2sinx − log2cosx − log2(1 − tan2x) = − 1

+ , n ∈ Z
nπ

2

π

8

nπ − , n ∈ Z
π

8

+ , n ∈ Z
nπ

4

π

2

https://dl.doubtnut.com/l/_9NafVXG5FtTx
https://dl.doubtnut.com/l/_9GADSx04qsWX

